28 PROBLEMS AND SOLUTIONS [March

S
E 3162 (1986, 5661, Propased by Paul Monsky, Brandeis Uniersy.
it moves on a square board like an ordinary chess
qneen ot permiid o sonint slon e cnded dgonal one may ik of
board as 2 torus with opposite sides next o cach oher) A result of Pilya's that
T o e oo e e 0 G (o ot e £ 5 19,
0 i i . e b gl 0 20 by bt it 10 (50
acking one another i snd ool
W& Wit poile. o ach ulwalﬂ o o . 2 upegussa o n by ¥
wilh ot i
w\ ot of N gt b s posinsdon an ¥ by ¥

oo byt peas. () Sch hecmet are ey, posi o cach e
ibe one expliily. I the 1 superqueen i n column x, and row

hal e g o the v Gt N
sufices o speily he - g, 101 51 < N - 3 i g~ g, il
0T ¥ odd {5t Vv domer, e vl b o s
aiues o | for w s v b e
vetors (1,2). u 5 i, 5" u g R

i i , rispectvel. A votation such 35 ABBC (or
bty 47yl mmnnphamemclrvemwnumxwuha,q Za=AnBC

¥ s s e o or 4 he scion's sy 0 et and i fct o
than N - 2 superqueens are possble (caes 1 and 2 below). The placement of the
= 2 spercns s o s o e remining e T omscions

are s ol
@1 N i prime 10, then 47 laces N paevise non-tacking s
@ 1 W Tt 12 e - 20 it M~ 1 Then B IERE P

N6 43 with M >0 Then

¥
U N -2 4 then A suffices for M o= 0 and
for 8 > 0.

() I N'= 120 & 6 then BAB sulfices for M = 0 and
o

NS sy a0 it mamm[ownd o s 0 o

ement abo the %, 5, 2, disinet reiduc
m » hm B e i of pacd spargis ko
T pordcens i poiie f s oy f N 3 no v by 3

0 U s i icin. o v ity



1989] PROBLEMS AND SOLUTIONS 29

s 1 pinc sontcio gty b bt By enaion

Suppose i 1 supcrquec s row , and el roamd s, x4
B

wilh 0 < 1,0 < N be he |uumlu(t)vlr),kudymun_
o HEy= ):f‘.,,'l-mrl-l\/moe VN = 1)/2mod

mod V: nmln\y o s s X
NN = DN - Dy Amod o S th som g zN(v- DN 173, we
N = 1)/3 must be sn ineger, w} N i a0t

N i even, It 2, = t = N/2 Then the 5/ belong

s _equals
2N DN 73, s e e N'/Jf”/hl/ﬂuxmmlqu
that N cannot be a multiple o 3 or
s i et




	60x
	61x

